
𝐸𝑥:      lim
𝑥→𝑏

 
 𝑥2 + 1 −  𝑏2 + 1

𝑥 − 𝑏
   

⟹ lim
𝑥→𝑏

 
 𝑥2 + 1 −  𝑏2 + 1

𝑥 − 𝑏
×  

 𝑥2 + 1 +  𝑏2 + 1

 𝑥2 + 1 +  𝑏2 + 1
 

⟹ lim
𝑥→𝑏

 
𝑥2 + 1 − 𝑏2 − 1

 𝑥 − 𝑏   𝑥2 + 1 +  𝑏2 + 1 
   ⟹ lim

𝑥→𝑏
 

𝑥2 − 𝑏2

(𝑥 − 𝑏)  𝑥2 + 1 +  𝑏2 + 1 
 

 

⟹ lim
𝑥→𝑏

 
 𝑥 + 𝑏  𝑥 − 𝑏 

(𝑥 − 𝑏)  𝑥2 + 1 +  𝑏2 + 1 
 

⟹ lim
𝑥→𝑏

 
 𝑥 + 𝑏 

  𝑥2 + 1 +  𝑏2 + 1 
 

⟹ lim
𝑥→𝑏

 
 𝑏 + 𝑏 

  𝑏2 + 1 +  𝑏2 + 1 
 

⟹ 
2𝑏

2 𝑏2 + 1
  ⟹ 

𝑏

 𝑏2 + 1
 



:                             

 

𝐸𝑥: 1.    lim
𝑥→0

 𝑥 

𝑥
   , 𝑥 ≠ 0   

 𝑥 =  
+𝑥   ,   𝑥 ≥ 0
−𝑥    ,   𝑥 < 0

 

lim
𝑥→0+

 
+𝑥

𝑥
= +1 

lim
𝑥→0−

 
−𝑥

𝑥
= −1 

⟹ lim
𝑥→0+

𝑓 𝑥 ≠ lim
𝑥→0−

𝑓 𝑥 ⟹                         

+1 ≠ −1 



𝐸𝑥: 2.    𝐹𝑖𝑛𝑑   lim
𝑥→1

 𝑓(𝑥) =  
𝑥2   , 𝑥 ≥ 1

 
𝑥 + 1       , 𝑥 < 1

 

 

lim
𝑥→1+

 𝑥2 = 1    ,     lim
𝑥→1−

 𝑥 + 1 = 2 

 

⟹ lim
𝑥→1+

𝑓 𝑥 ≠ lim
𝑥→1−

𝑓 𝑥 ⟹          1 ≠ 2                       

    



                        Infinite limit 

                f(x)                                                                 (x)    (a)    

:                                                                                            

 

lim
𝑥→𝑎+

𝑓 𝑥 = ∞  ,    lim
𝑥→𝑎−

𝑓 𝑥 = −∞ 

𝐸𝑥:    lim𝑥→0
1

𝑥
    ,   𝑥 ≠ 0     

lim𝑥→0+
1

𝑥
= +∞    ,    lim𝑥→0−

1

𝑥
= −∞                       

                                                             



𝐸𝑥:      lim
𝑥→0

 
2

1 + 2 
1
𝑥

   

                   

     lim
𝑥→0+

 
2

1 + 2 
1

+𝑥

  ⟹   
2

1 + 2∞
=

2

∞
= 0 

                

     lim
𝑥→0−

 
2

1 + 2 
−

1
𝑥

  ⟹   
2

1 + 2−∞
=

2

1 + 0
= 2 

⟹ lim
𝑥→0+

𝑓 𝑥 ≠ lim
𝑥→0−

𝑓 𝑥 ⟹          0 ≠ 2                           



 

𝐸𝑥:      lim
𝑥→∞

 
𝑥3 − 5

3𝑥2 + 5𝑥
= ∞ 

 

lim
𝑥→∞

 

𝑥3

𝑥3 −
5
𝑥3

3𝑥2

𝑥3 +
5𝑥
𝑥3

  ⟹  lim
𝑥→∞

 
1 −

5
𝑥3

3
𝑥

+
5
𝑥2

   ⟹  
1 − 0

0 + 0
=

1

0
= ∞ 

 

𝐸𝑥:      lim
𝑥→∞

 
𝑥4 + 𝑥 + 1

2𝑥5
= 0 

 

      lim
𝑥→∞

 

𝑥4

𝑥5 +
𝑥
𝑥5 +

1
𝑥5

2𝑥5

𝑥5

   ⟹    lim
𝑥→∞

 

1
𝑥

+
1
𝑥4 +

1
𝑥5

2
 

⟹  
0 + 0 + 0

2
=

0

2
= 0 



𝐸𝑥:      lim
𝑥→∞

 
𝑥2 + 3

2𝑥2 + 4𝑥
=

1

2
 

 

lim
𝑥→∞

 

𝑥2

𝑥2 +
3
𝑥2

2𝑥2

𝑥2 +
4𝑥
𝑥2

   ⟹  lim
𝑥→∞

 
1 +

3
𝑥2

2 +
4
𝑥

  

 

⟹ 
1 + 0

2 + 0
=

1

2
 



 

𝐸𝑥:      lim
𝑥→∞

 
 3𝑥2 − 5𝑥 + 4

2𝑥 − 7
=

 3

2
 

 

      lim
𝑥→∞

 
 𝑥2(3 −

5𝑥
𝑥2 +

4
𝑥2)

𝑥(2 −
7
𝑥

)
  ⟹  lim

𝑥→∞
 
𝑥 (3 −

5
𝑥

+
4
𝑥2)

𝑥(2 −
7
𝑥

)
 

 

⟹ lim
𝑥→∞

 
  3 −

5
𝑥

+
4
𝑥2 

 2 −
7
𝑥
 

   ⟹   
 (3 −

5
∞

+
4
∞

)

(2 −
7
∞

)
 

 

 

⟹ 
  3 − 0 + 0 

 2 − 0 
=

 3

2
 



:                                 

   1 .     lim
𝑥→0

 
3

2 + 0.4 
1
𝑥

  

   2 .     lim
𝑥→0

 
1 + 3 

1
𝑥

1 − 3 
1
𝑥

 

 3 . 𝐹𝑖𝑛𝑑    lim 
𝑥→1

𝑓 𝑥 =  
2𝑥2          , −1 ≤ 𝑥 < 1

  
3 − 𝑥     ,1 ≤ 𝑥 ≤ 2  

 

   4 .     lim
𝑥→0

 
3𝑥 +  𝑥 

7𝑥 − 5 𝑥 
 

 



:                                      

    1 .  lim
𝑥→∞

 
3𝑥 + 2

 4𝑥2 + 5
  

 

   2 .    lim
𝑥→∞

 
 𝑥2 − 1

2𝑥 + 1
 

 

 3 .    lim
𝑥→∞

 
2𝑥2 − 7𝑥 + 5

𝑥3 − 2𝑥 + 1
 

 

    4 .  lim
𝑥→∞

  𝑥2 + 1 − 𝑥  


